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Applying Properties of Operations

Name:

Apply thedistributive property to produce an equivalent expression.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

3(10a+5)
2(9 + 29)
4(2b + 3)
40d + 20
56s + 63
60 + 20w
6(6k + 2)
ptp+tp+p+tp+p+p+p
6(8 + 2y)
3(3 + 8t)
f+f+f+f
9(4 + 9n)
2(8 + 3e)
3(4 + 4r)
90c + 40
10(6u + 7)
72) + 72
56 + 21h
70 + 63z

9+ 18v

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.
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ﬂh Applying Properties of Operations Name: Answer Key

Apply thedistributive property to produce an equivalent expression. Answers
Y 3(10a+5) . 30a+15
2) 2(9+ 29) N 18 + 4g
) 4@20+3) 2 8bh+12
4) 40d + 20 . 202d + 1)
5 56s+ 63 5 7(8s+9)
6) 60+ 20w 6. 20(3+ 1w)
) 6(6k + 2) . 3Bk+12
8 p+p+p+p+p+p+p+p . 8p
9 6(8+ 2y) 9. 48 + 12y

10) 3(3+ 8t) 0, 9+ 24t

1) f+f+f+f " 4

2 94+ on) 1> 36+8In

13) 2(8 +3¢) . 16+6e

) 3(4+4n) W 12412

15) 90c + 40 s 1009+ 4)

16) 10(6u + 7) . 60U + 70

1) 721+ 72 o 72(1 + 1)

18) 56+ 21h s 7(8+3h)

19) 70+ 63z o 7(10+92)

20) 9+ 18v 6 9(1+2V)
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Applying Properties of Operations

Name:

Apply thedistributive property to produce an equivalent expression.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

t+t+t+t+t+t+t+t

40 + 20k

8(8 + 4c)
Z2+z+z2+z2+z2+z2+2+2
2(6 + 10m)

4(6y + 6)

2(6r + 8)

20 + 8b

15 + 24
h+h+h+h+h+h+h+h+h
2(5 + 2w)

63s+ 70
p+tptp+p+tp+p+p

12a+ 14

8n + 10

14 + 499
V+V+V+V+V+V+V+V+Y
7(5e+5)

7(10 + 3u)

42 + 49d

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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Applying Properties of Operations

Answer Key

Apply the distributive property to produce an equivalent expression. Answers
1)
t+t+t+t+t+t+t+1 L st
2
) 40 + 20k 2 20(2 + 1k)
3
) 8(8 + 4¢) 3 64 + 32c
A z+z+z+z2+2+2+2+2
4, 8z
5
) 2(6+ 10m) 5 12 + 20m
6
) 4(6y + 6) 6 24y + 24
7
) 2(6r + 8) 7 12r + 16
8
9 :
10) h+h+h+h+h+h+h+h+h
10. 9h
11
) 2(5+ 2w) 11 10 + 4w
12
) 635+70 12. 7(98 + 10)
13) p+p+p+p+p+p+
ptrp+tp+rp+p+p+p 1 7p
14
) 12a+ 14 " 2(6a+ 7)
15
) 8n+10 s 2(4n +5)
16) 14+ 49
g 6. ((2+79)
17) v+v+Vv+V+V+V+V+V+y
17. v
18
) 7(5e+5) s 35e+35
19
) 7(10 + 3u) 1. 70+ 21u
20
) 42 + 49d o0, 7(6 + 7d)
80[75]70] 65]60]55
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Applying Properties of Operations

Name:

Apply thedistributive property to produce an equivalent expression.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

70j + 70

42s+ 21

3(6 + 3b)

8(10 + 10f)

3(6c + 3)
m+m+m+m+m+m
24 + 42a

et+te+e

9(9z + 3)

30 + 15w

t+t+t

6(3h + 7)

9(5 + 8p)
V+V+V+Vv+Vv+v+y
8(7 + 9n)
u+tu+u+u+u+tu+u+u
6(5r + 9)

15 + 24k

7(8 + 3y)

6(4 + 79)

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers

C

Math ] www.CommonCoreSheets.com

1-10
11-20

95

90

85

80

75

70

65

60

45

40

35

30

25

20

15

10




=

Applying Properties of Operations

Answer Key

Apply the distributive property to produce an equivalent expression. Answers
1) i .
70 + 70 1. 701 +1)
2
) 42s+ 21 ” 21(28+ 1)
3
) 3(6 + 3b) 3. 18 + 9b
4
) 8(10 + 10f) 4 80 + 80f
5
) 3(6¢ + 3) 5, 18c+9
) m+m+m+m+m+m
6. 6m
7
) 24+ 42a 7 6(4 + 7a)
8)
ete+e . 3e
9
) 9(9z + 3) 0. 81z + 27
10
) 30 + 15w 10, 15(2 + 1w)
11)
t+t+t " 3t
12
) 6(3h+7) 1. 18h+42
13
) 9(5+8p) s 45+72p
14) v+v+Vv+V+V+V+y
14. v
15
) 8(7 + 9n) 15, 56+ 72n
16) u+u+u+u+u+u+u+u
16. 8u
17
) 6(5r+9) 7. 30r +54
18
) 15 + 24k 1. 3(5+8K)
19
) 7(8+3y) 0. 56+ 21y
20
) 6(4 + 79) 0 24+ 429
80 70| 65| 60 | 55
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Applying Properties of Operations

Name:

Apply thedistributive property to produce an equivalent expression.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

3(4 + 2m)

30 + 20y

8(7 + 2h)

2(10 + 8g)

6(7a+7)

15e + 40

12 +10c

6(10d + 7)

4(9 + 7r)
n+n+n+n+n+n+n+n
12 + 32k
u+tu+u+u+u+tut+u+tu+u
p+tp+tp+p+p

5(4z + 2)
W+w+w+w+w

10(2 + 5f)

2(6 + 4b)

6(9+ 7))

45 + 54v

8(5 + 10t)

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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ﬂh Applying Properties of Operations

Answer Key

Apply the distributive property to produce an equivalent expression. Answers
1
) 3(4+2m) . 12 + 6m
2
) 30+ 20y ) 10(3 + 2y)
3
) 8(7 + 2h) 3. 56 + 16h
4
) 2(10 + 8g) . 20 + 169
5
) 6(7a+7) s 42a+42
6
) 15e+ 40 . 5(3e+8)
7
) 12+ 10c 7 2(6 + 5¢)
8
) 6(10d+7) s 60d +42
9
) 49+ ) o  36+28r
10) n+n+n+n+n+n+n+n
10. 8n
11
) 12+ 32 0 43+8K)
12) u+u+u+u+tu+u+u+u+u
12. u
13) p+p+p+p+
p+p+p+p+p L 5p
14
) 5(4z + 2) 1. 20z + 10
D) w+rw+w+w+w
15. oW
16
) 10(2 + 5f) 16, 20 + 50f
17
) 2(6 + 4b) 17 12+ 8b
18 i
19
) 45+ 54v 19. 95+ 6v)
20
) 8(5 + 10t) 20, 40 + 80t
80 70| 65|60 [ 55
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Applying Properties of Operations

Name:

Apply thedistributive property to produce an equivalent expression.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

28d + 63
V+V+v
g+g+g+g+g+g
t+t+t+t+t
6(8 + 4w)

6 + 10p
f+f+f+f+f
K+Kk+K
30j + 40
72n + 36
30a+ 60
10(9s + 10)
30r + 30

56 + 14b
54 + 18h
27+ 18z
40 + 30y
4(9m + 9)
54 + 63e

c+tc+c+c+cC

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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Applying Properties of Operations

Answer Key

Apply the distributive property to produce an equivalent expression. Answers
1) 28d+63 L __ 7(4d+9)
2 v+Vv+vV 5 3V
9 g+g+g+g+gtg 3 69
4 t+t+t+t+t 4 ot
5) 6(8 + 4w) 5, 48 + 24w
6) 6+ 10p 6. __ 2(3+5p)
D f+f+f+f+f 7 5f
8) k+k+k 8. 3k
9 30j +40 o. _ 10(3] +4)

10) 72n+ 36 0. __36(2n + 1)

11) 30a+ 60 n_ 30(la+2)

12) 10(9s + 10) 1 90s+ 100

13) 30r + 30 3. 30(1r + 1)

14) 56+ 14b w144+ 1b)

15) 54+ 18h 15 18(3+ 1h)

16) 27 +18z 6. 9(3+22)

17) 40 + 30y 17.__10(4 + 3y)

18) 4(9m + 9) 18, 36m + 36

19) 54+ 63e 9. 9(6+ 7€)

20) c+c+c+cH+cC 20. oC
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Applying Properties of Operations

Name:

Apply thedistributive property to produce an equivalent expression.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

6(5 + 4y)
f+f+f+f+f
10s+ 16

2(7g +9)

24 + 48a

2(9 + 5d)

7(7v + 8)
JH]+]+]+]
b+b+Db

7(9z + 2)

48 + 48m

20t + 20

6(4 + 7h)
u+u+u+u
30r + 25

8n+ 12
ptp+tp+p+p
2(10 + 7c)
W+wW+w+w+w+w

ete+tet+tetete

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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ﬂh Applying Properties of Operations Name: Answer Key

Apply the distributive property to produce an equivalent expression. Answers
D) 6(5+ 4y) . 30 + 24y
2 f+f+f+f+f X 5
3 10s+ 16 ) 2(5s + 8)
4 2(7g+9) . 14g + 18
5 24+ 48a 5. 24(1+2a)
6) 2(9 + 5d) 6 18 + 10d
7) 7(7v + 8) 7 49v + 56
8 JHj+i+j+] . 5i
9 b+b+b . 3b

19 7(92+2) o 63z+14

H 48+ 48m i 48(1+ 1m)

12) 20t +20

12. 20(1t + 1)

13) 6(4 + 7h)

13 24+ 42h
14 u+u+u+u 14, 4u
15) 30r + 25 15 5(6r +5)
16) 8n+ 12 6. 4(2n+3)
17) p+p+p+p+p 17 op
18) 2(10 + 7c) 18, 20+ 14c
19 wW+w+w+wW+w+w 19 6W
20) e+e+e+e+e+e 20. 6e
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JL_

Applying Properties of Operations

Name:

Apply thedistributive property to produce an equivalent expression.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

18 + 18h

72 + 32r

12 + 20p

8(7 + 8m)

2(3a+4)

f+f+f+f+f+f

8(7v + 10)
c+c+c+c+c+c+c

9(6 + 4t)

9(9y + 10)
ete+tetet+etet+tetete
7(4n +9)

3(5d + 4)
k+k+k+k+k+k+k+k
18u + 18

60 + 18s

21b + 15

9(6j + 4)
g+g+g+g+g+g+g+g+g

Z2+72+72+72+72+72+z2+7z2+2

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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Applying Properties of Operations

Answer Key

Apply the distributive property to produce an equivalent expression. Answers
1
) 18+ 18h 1. 18(1+ 1h)
2
) 72+ 32r ) 8(9 + 4r)
3)
12 + 20p . 4(3 + 5p)
4
) 8(7+8m) .+ 56+64m
5
) 2(3a+4) 5, 6a+ 8
6)
f+f+f+f+f+f . 6f
7
) 8(7v + 10) 7 56v + 80
8 c+c+c+c+c+c+e
8. /C
9
) 9(6+ 41) o. 54+ 36t
10
) 9(9y + 10) 100 8ly+90
11) e+te+e+e+e+e+tetete
11. %e
12
) 7(4n + 9) 12. 28n + 63
13
) 3(5d + 4) 13 15d+12
14
) k+k+k+k+k+k+k+k “ 8k
15)
18u+18 5 18(1u +1)
16)
60 + 18s 16, 6(10 + 3s)
17)
21b + 15 - 3(7b + 5)
18 i
) (6] +4) . 54 +36
19 g+g+g+g+g+g+g+g+g
19. 9
20) z+z+z+z+z+z2+2+2+2
20. 9z
80 70| 65|60 [ 55
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JL_

Applying Properties of Operations

Name:

Apply thedistributive property to produce an equivalent expression.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

10(3 + 7d)

24e + 32

S+s+s

35+ 70t

16p + 20

9(9 + 8c)

10(9 + 8g)

80 + 16b

27r + 36

JH]+]+]

27 + 72f

14k + 4

20 + 20v
z+z+z+tz+z+z+2
3(6 + 6w)
ytyty+y+y
ata+a

42h + 56
m+m+m+m+m

20 + 8u

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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Applying Properties of Operations

Answer Key

Apply thedistributive property to produce an equivalent expression. Answers
1) 10(3 + 7d) 1 30 + 70d
2 24e+32 2 _ 8(3e+4)
3 s+s+5s 3, 3s
4) 35+ 70t . 35(1+2t)
5) 16p + 20 5. 44p+5)
6) 9(9 + 8c) 6. 81+ 72c
7) 10(9 + 8g) 7. 90+ 809
8 80+ 16b s _ 16(5+ 1b)
9 27r+ 36 o. _ 9Br+4

10) j+j+j+] 10. 4

1) 27 + 72f u__ 93+ 8f)

12) 14k + 4 2 2Tk +2)

13) 20+ 20v m 20(1+ 1v)

14) z+z7z4+z+z+z2+72+2 1 1z

15) 3(6 + 6w) 15, 18+ 18w

16) y+y+y+y+y 16, oy

17) a+a+a 17. 3a

18) 42h +56 8. 14(3h +4)

19 m+m+m+m+m 19, om

20) 20+ 8u 0. 45+ 2u)
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Applying Properties of Operations

Name:

Apply thedistributive property to produce an equivalent expression.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

8+ 6d
9(4n +9)
14k + 14
63 + 27y
4(2g + 3)
60j + 90
95+ 99)
10(2 + 5c¢)
36 + 90f
r+r+r+r+r+r+r+r+r
t+t+t+t
63u + 72
10(2 + 6p)
92m+7)
4(9a+ 4)
54z + 42
6(10v + 3)
5(9 + 3h)
5(3b + 4)

3(10 + 7e)

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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ﬂh Applying Properties of Operations Name: Answer Key

Apply the distributive property to produce an equivalent expression. Answers
1) 8+6d 1 __2(4+3d)
2) 9(4n+9) 2 36n + 81
3 14k + 14 s _ 1401k + 1)
4) 63+ 27y 4 (7 + 3y)
5 4(2g + 3) 5. 8g + 12
6) 60j + 90 6. _ 302 +3)
7) 9(5+ 9s) 7 45 + 81s
8) 10(2 + 5¢) 8. 20 + 50c
9 36+ 90f 9 18(2 + 5f)

100 r+r+r+r+r+r+r+r+r 0 or

1) t+t+t+t 11, 4t

12) 63u+ 72 2. 9(7u+8)

13) 10(2 + 6p) 13 20+ 60p

14) 92m+7) 14, 18m + 63

15) 4(9a+ 4) 15,  3ba+ 16

16) 54z + 42 6. 6(9z+7)

17) 6(10v + 3) 17, 60v+ 18

18) 5(9 + 3h) 18. 45+ 15h

19) 5(3b + 4) 19. 15b + 20

20) 3(10 + 7e) o 30+2le
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Applying Properties of Operations

Name:

Apply thedistributive property to produce an equivalent expression.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

36 + 63w

10 + 35k

2(7 + 3y)

24f + 28

10(5e + 10)

6+ 8v

72 + 63h

27t + 30

70n + 42
d+d+d+d+d+d
16 + 32]

24 + 40g

2(7a+5)
c+tc+c+c+c
S+s+s+s+s+s+s+s+s
27b + 72

2(8r + 10)
u+tu+u+u+u
40 + 16z

3(7 + 8m)

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answers
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Applying Properties of Operations

Answer Key

Apply the distributive property to produce an equivalent expression. Answers
1
) 36 + 63w . o4 + 7w)
2
) 10 + 35k X 5(2 + 7K)
3
) 2(7 + 3y) . 14 + 6y
4
) 24f + 28 . A(6f + 7)
5
) 10(5e + 10) 5. 50e + 100
6
7
8
) 27t + 30 8. 3(%t + 10)
9
) 70N + 42 o. 14(6Bn+3)
10)
d+d+d+d+d+d o 6d
11 i
12) 24+ 40
J 12 8(3+50)
13
) 2(7a+5) 13, 14a+ 10
14) c+c+c+c+c
14, 5C
15 s+s+S+Ss+S+S+S+S+S
15. 9s
16
) 27b + 72 16, 9(3b + 8)
17
) 2(8r + 10) 17, 16r +20
18) u+u+u+u+u
18. ou
19
) 40 + 16z 1. 8(5+22)
20
) 3(7 + 8m) 2. 21+ 24m
80[75]70[ 65]60] 55
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